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Klåbäcken

Fal
lbä

cke
n

Storträsk

Stora
dammen

Hältingträsk

Granöfjärden

Bruksviken

Borgarstrandsviken
Porvarinlahti

Torpviken

Björnsöviken

Kuggviken

Karlvik

Finnörsbottnet

Storörsbottnet

Kapellviken

Svinviken

Bölsfjärden

Svartviken

Träskviken

Mellunmäki
Mellungsbacka

Länsimäki
Västerkulla

Länsisalmi

Kärr

Gumböle

Husö

Östersundom

Immersbacka

Aspesskog

Björkhaga

Majvik

Korsnäs
Östersundom

Itäsalmi

Landbo

Degermossa

Karhusaari
Björnsö

Bäckängen
Puroniitty

Ultuna

Talosaari

Salmenkallio
Sundberg

Kuntokallio

Storängen

Hemåkern
ÖsterängenLångåkern

Granö

Björnsö

Käringholmen

Syväoura

Matosaari

Börstäng

Storängen

Kattrumpan

Sjöängen

Brakvedskärr

Nyåkern

Långeräng

Degermossa

Krokot

Kalkkisaari
Kalkholmen

Karhusaari

Kråkholmen

Råbacka

Kvarnbacken

Långmossabergen

Gubbacka

Kasaberget
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